ANSWERS 1.1-1.3 it

1. Sample answer: A, C, I\ K

| wer: E G . setion 1.1) ~1linear points.
2. Sample answer: F (;,i Use the diagram. (Secfiv , Name three collinear p
. awer: F(r. / . St e AT Ints.
;, S(H?I]JI(’ answer: FG, AB 1 Name four poInLs. 4, Name three coplanar poIn
] k't, 1 3 1.1 ' D "' f‘ K' ‘ 4 o L " Elne
’ Sumpl( S * 3. Name two lines. 6. Give tWo names f(:rr the pl
¥ S(-HHP](? answer. plul‘lt‘ AFH 5 Name the plane that 18 that i shaded blue.
6. Sample answer: plane ADK, shaded green. g. Name three rays:
plane CEK 2. Name three line segments.
7. Sample answer: CD,AB, GF e O o ) -
- : : ; . ibed. (Section L.4. : . ~ 2
R PR Sketch the figure descrl P intersecting ¥/ at Z
8. Sample answer: CD, LA, FH FRSRAS o' 10. plane
! 9. OR and 05 e —
e : determine whether AB and CD are congruent. (Section | 7
: : Then d€
‘ a coordinate plane. : i
Plot the points In 12. A(—8,7),B(1,7), C(—3, —6), D(5, —6)

; 11. A(-3,3), B(1, 3), CC, 21 DI =),

Find AC. (Section 1.2)

e 14. - o4 1
Q R 13: A 13 B 26 ¢ e e

A C.

10. Sample answer:

Find the coordinates of the midpoint M and the distance between the two points. (Section 1.3)

15. J(4,3) and K(2, —3) 16. L(—4,5) and N(5, —3) 17. P(—6, —1)and 0(1.2
Y
18. Identify the segment bisector of RS. Then find RS. Ex — 2 Iy - 7
ra yeCli ‘ 13 .———*—'.____.
(Section 1.3) . v :

19. The midpoint of JK is M(0, 1). One endpoint is J(—6, 3). Find the coordinates of
endpoint K. {(Section 1.3)

20.  Your mom asks you to run some errands on your way home from school. She wants

you to stop at the post office and the grocery store, which are both on the same strai ght
road between your school and your house. The distance from your school to the post

ofﬁce 1s 376 yards, the distance from the post office to your house is 929 yards, and the
distance from the grocery store to your house is 513 yards. (Section 1.2)

Where should you stop first?

What is the distance from your school to your house?

. You walk at a speed of 75 yards per minute. How long does

it take_ you to walk straight home from school?
Explain your answer. ‘
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